Bt 21

RUFE R AR (S RIREMN L) BBt v brifEé

iR KRS

= TRl 5k FE T A B Wt %
‘ T&E*ﬁﬁ lml:ﬁ iﬁ:u-] %j(qaﬁémﬁixﬁ?%ﬁ Ix@%ﬁﬁ 7]6{ %‘LEEE‘
g 2% (X Ja] o Eey—
. ZINRIES 1P k2B v ) N > e
=103 SRR A RS WA X Jef ¥iE =i
AR R (Gu/brtEG AR 0. 45 0. 45 0. 45 0.6 0. 45 0. 45 0. 45
F LR B (AR 21.905 1.528 1.472 2.336 4,218 18. 930 10. 466
—R%E 9. 86 0.69 2.06 1.90 8. 52 4,71
o K% 14.79 1.03 3. 10 2. 85 12.78 7.06
e Bk 4% (OT) :
=K 19. 71 1.38 4,13 3. 80 17. 04 9. 42
V0% 29.57 2.06 6.19 5.69 25. 56 14. 13
_ . LR v - R 5 R S 2%
B .~ L 0 - BB 51l 3 3 - I E R
g SEAS RN v SEAS RN Pesb
RARHE Gr/FrEE N ) 0. 45 0. 45 0. 45 0. 45 0. 45 0. 45
TR R (A ) 14. 853 3. 644 7.703 5. 875 11. 244 16. 594
—R%E 6. 68 1. 64 3. 47 2.64 5. 06 7. 47
o K7 10. 03 2. 46 5. 20 3.97 7.59 11.20
W2k 4% (OT) —
=k 13.37 3.28 6.93 5. 29 10. 12 14. 93
NP S 20. 05 4,92 10. 40 7.93 15.18 22. 40




B 22

KU

HAHE (B RHREM S ) bt

S B D brifi e

Fr SRR E

RS PN B2

== Hgéf‘ VL NV 3
X j?&ﬁé?ﬁﬂ‘ WB& ﬁlj:u—l %jCEE iX@?ﬁtéL jiﬁ?ﬁh 7lﬁ'f;u %EEF‘
e B X o] i e
b ’ ST 2V 3 R R S T AT B b Pt B =i
BEAWE (T/AREEAR) 0. 45 0. 45 0. 45 0.6 0. 45 0. 45 0. 45
FLU R (A ) 21. 905 1. 528 1. 472 2.336 4.218 18. 930 10. 466
—R7% 9. 86 0. 69 2.06 1.90 8. 52 4.71
—KE 20. 70 1. 44 4.33 3.99 17. 89 9. 89
N =R 31.15 2.17 6. 52 6. 00 26. 92 14. 88
W 2% 445 (IT) :
e 36. 96 2.58 7.74 7.12 31. 94 17. 66
TR 38.05 2. 65 7.97 7.33 32. 88 18. 18
NHKZE 40. 32 2.81 8. 44 7.76 34. 84 19. 26
. . o LB R . 15 5 kT 4
8 - ol 5 W - DI SV . 2
g AT A FEREAL - SEAS AL U
HAWE Gu/FRdEEAE) 0. 45 0. 45 0. 45 0. 45 0. 45 0. 45
FLRU TR (A E) 14. 853 3. 644 7.703 5. 875 11. 244 16. 594
—R%E 6. 68 1. 64 3. 47 2. 64 5. 06 7.47
—KE 14. 04 3. 44 7.28 5.55 10. 63 15. 68
N =K% 21.12 5.18 10. 95 8. 35 15. 99 23. 60
W%k 4% o) -
IS 25. 06 6. 15 13. 00 9.91 18. 97 28. 00
FHKZE 25. 80 6. 33 13. 38 10. 20 19. 53 28. 82
NKE 27. 34 6.71 14. 18 10. 81 20. 69 30. 54




FifE2-3

RN (B RMRIRMN L ) MERC b

IR ESS) YN

AR KA R

YRS KR SCER AT

¥ f=n NN I S fiti pé =
g R4 ik 7 A A e Pt BiE ;
[ME P U o BFE (A HD 0. 000 0. 352 0. 000 0. 000 0. 339 0.333 0. 352
HARRER Gr/IlEEAE) 0. 45 0. 45 0. 45 0. 45 0. 45 0. 45 0. 45
—RE 0.16 0.15 0.15 0.16
TR 0. 24 0.23 0.22 0. 24
BRI G B F——
=R%E 0. 32 0.31 0. 30 0. 32
I 0. 48 0. 46 0. 45 0. 48
—R4 0.16 0.15 0.15 0.16
TR 0.33 0. 32 0.31 0.33
=R%E 0. 50 0.48 0.47 0. 50
1o A 3 4 (5) =
B 0.59 0. 57 0. 56 0.59
HE 0.61 0.59 0. 58 0.61
NRG 0. 65 0.62 0.61 0. 65
N oL B 0 . HeHRI 51 i) 2 Y 2k
MEr B s BfE (AHD 0. 303 0. 000 0.310 0. 000 0. 342 0. 000
AR o/ IrEFAR) 0. 45 0.45 0. 45 0.45 0.45 0. 45
—RZ4 0.14 0.14 0. 15
TRE 0.20 0.21 0.23
RERBREH (E) ——
=3R4 0. 27 0. 28 0.31
P4 0.41 0.42 0. 46
—RZ4 0.14 0.14 0. 15
TRE 0.29 0.29 0. 32
=3R4 0.43 0.44 0. 49
IR I S (5T) —
PUKZE 0.51 0.52 0. 58
HRL 0.53 0. 54 0.59
NRE 0. 56 0.57 0.63




